T e g ACCESSORIES

@ PREFORMED LINE PRODUCTS

REAR WALL/FLOOR MOUNT KIT

® One size suits all

® Top and bottom supplied as one unit

e Maximum weight is determined by wall strength and fasteners
e Easily installed

® Rear wall/floor mount kit is supplied

with fasteners, excludes wall/floor bolts 9073-BL

ANTI-TILT BRACKET

® To be used with levelling feet
o Anti-ilt brackets are supplied with fasteners, excludes
floor bolts

9038 ‘ Levelling foot anti-tilt clamp (set)

EARTHING KIT

® 400mm long earthing cable
e Earthing kit consists of: M6 rings at each end, 2x M6 studs,
4x M6 star washers

9402

EARTHING BAR

® Copper earth bar is 3mm thick with, slotted and threaded holes

C**55 NOTE: ** = height of cabinet in RU.

CAGE NUTS

e Set of cage nuts consist of: # x M6 cage nuts, # x M6 screws
and # x M6 flat washers
#indicates 4 or 100

9074 Fastener kit (set of 4)

27"))XPRE$$ 9075 Fastener kit (set of 100)

Call us today 1300 550 322 or email sales@rack-tech.com or visit us online at racktechnologies.com.au



